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CHEMICAL REACTIONS AND EQUATIONS

lllustrations

1. Write a balanced chemical equation for the
reaction  between sodium carbonate and
hydrochloric acid indicating the physical state of the

reactants and the products.
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https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_6EXlrFJNg3zs

| ) Watch Video Solution

2. Give the chemical equation when barium chloride
reacts with aluminium sulphate to give aluminium

chloride and barium sulphate.

o Watch Video Solution

3. Balance the given chemical equation

H>S04 + NaOH — NasSO4 + H50O

o Watch Video Solution



https://dl.doubtnut.com/l/_6EXlrFJNg3zs
https://dl.doubtnut.com/l/_z8naakI8niDD
https://dl.doubtnut.com/l/_1lqv8MIDf8Y8

4. State the law that is followed by balancing a

chemical equation.

° Watch Video Solution

5. Balance the following chemical equation

Na + H,O — NaOH + H,

o Watch Video Solution

6. Write combination reactions that occur when the
metal barium reacts with the following nonmetals.

Hydrogen


https://dl.doubtnut.com/l/_BKk9fl1mr591
https://dl.doubtnut.com/l/_PFu4VFST2YLI
https://dl.doubtnut.com/l/_kwqONCqIfMn5

o Watch Video Solution

7. Write combination reactions that occur when the
metal barium reacts with the following nonmetals.

Sulphur

o Watch Video Solution

8. Write combination reactions that occur when the
metal barium reacts with the following nonmetals.

Bromine

° Watch Video Solution



https://dl.doubtnut.com/l/_kwqONCqIfMn5
https://dl.doubtnut.com/l/_f2sTBidSpuFC
https://dl.doubtnut.com/l/_lOCYaFU82SJU

9. Write combination reactions that occur when the
metal barium reacts with the following nonmetals.

Nitrogen

° Watch Video Solution

10. What change in colour is observed when white
silver chloride is left exposed to sun light ? State the

type of chemical reaction in this change.

° Watch Video Solution



https://dl.doubtnut.com/l/_lS0HJy7NycTe
https://dl.doubtnut.com/l/_EfIoVxJ11p0T

11. A green salt on heating decomposes to produce a
colourless suffocating gas and leaves behind a
reddish brown residue. Name the salt and write the

decomposition reaction.

o Watch Video Solution

12. What happens when an aqueous solution of
sodium sulphate reacts with an aqueous solution of
barium chloride? State the physical conditions of
reactants in which the reaction between them will
not take place. Write the balanced chemical equation

for the reaction and name the type of reaction.



https://dl.doubtnut.com/l/_H6D9iSiDCcXz
https://dl.doubtnut.com/l/_GDiDjy4GsPIA

‘ o Watch Video Solution

13. 2 g ferrous sulphate crystals are heated in a dry
boiling tube.

List any two observations.

o Watch Video Solution

14. 2 g ferrous sulphate crystals are heated in a dry
boiling tube.

Name the type of chemical reaction taking place.

° Watch Video Solution



https://dl.doubtnut.com/l/_GDiDjy4GsPIA
https://dl.doubtnut.com/l/_XpIJbU2kDn1T
https://dl.doubtnut.com/l/_fO6qkaCsC66J

15. 2 g ferrous sulphate crystals are heated in a dry
boiling tube.

Write the chemical equation of the reaction

° Watch Video Solution

16. Can a displacement reaction be a redox reaction?

Explain with the help of an example

° Watch Video Solution

17. Write the type of chemical reaction in the

following:


https://dl.doubtnut.com/l/_p9r25lcWkuuG
https://dl.doubtnut.com/l/_NdICIQxnjoF9
https://dl.doubtnut.com/l/_hDIzQCWW9oRT

Reaction between an acid and a base

° Watch Video Solution

18. Write the type of chemical reaction in the
following:

Rusting of iron

° Watch Video Solution

Solved Examples


https://dl.doubtnut.com/l/_hDIzQCWW9oRT
https://dl.doubtnut.com/l/_XoXZOYNmbwl8

1. Mention the type of chemical reaction that takes
place when :
a magnesium ribbon is burnt in air

Write the chemical equation for this reaction.

o Watch Video Solution

2. Mention the type of chemical reaction that takes
place when :
limestone is heated

Write the chemical equation for this reaction.

° Watch Video Solution



https://dl.doubtnut.com/l/_btbiPWX3Ozcm
https://dl.doubtnut.com/l/_TnMsW09FoqT7

3. Mention the type of chemical reaction that takes
place when :
electricity is passed through acidified water.

Write the chemical equation for this reaction.

° Watch Video Solution

4, Give an example where corrosion is an advantage

rather than a disadvantage.

° Watch Video Solution



https://dl.doubtnut.com/l/_BQJ4k25RqAQM
https://dl.doubtnut.com/l/_CcpJbnpOYNCZ

5. Represent each of the following word equations
with a balanced chemical equation.
Solid aluminium hydride is formed by a combination

reaction of its two elements.

° Watch Video Solution

6. Represent each of the following word equations
with a balanced chemical equation.

When solid calcium bisulphite is heated decomposes
to solid calcium oxide, sulphur dioxide, gas and

water.

° Watch Video Solution



https://dl.doubtnut.com/l/_CFaVLXsv4Rgr
https://dl.doubtnut.com/l/_a1ifCNGCWemZ

7.What happens when zinc granules are treated with
dilute solutio of HyS80,4, HCIl, HNO3, NaCl and
NaOH ? Also write the chemical equations if reaction

ocCcurs.

o Watch Video Solution

8. Name the type of chemical reaction represented

by the following equations :

NH,; + HCl — NH,CI

° Watch Video Solution



https://dl.doubtnut.com/l/_a1ifCNGCWemZ
https://dl.doubtnut.com/l/_BCfVXA4raFeg
https://dl.doubtnut.com/l/_uwHTvPQOf226

9. Name the type of chemical reaction represented

by the following equations :

3BaCl2 + AlQ(SO4)3 — 2AICl3 + 3BG,SO4

° Watch Video Solution

10. Name the type of chemical reaction represented

by the following equations :

2F€SO4 E F€203 + SOQ + SO3

° Watch Video Solution



https://dl.doubtnut.com/l/_hNRtI52RY4pk
https://dl.doubtnut.com/l/_O2XAVdWVBPgS

1. Why is respiration considered an exothermic

reaction? Explain.

° Watch Video Solution

12. Write chemical name and the formula of the
brown gas produced during thermal decomposition

of lead nitrate.

° Watch Video Solution

13. Why do chips manufactures flush bags of chips

with gas such as nitrogen?


https://dl.doubtnut.com/l/_34H8mLnbzk5j
https://dl.doubtnut.com/l/_NcSGJVRlomWa
https://dl.doubtnut.com/l/_JIT4GvZ6kP9U

o Watch Video Solution

14. Write balanced chemical equations for the
following chemical reactions :

Hydrogen + Chlorine — Hydrogen chloride

o Watch Video Solution

15. Write balanced chemical equations for the
following chemical reactions :

Lead +Copper chloride — Lead chloride +Copper

o Watch Video Solution



https://dl.doubtnut.com/l/_JIT4GvZ6kP9U
https://dl.doubtnut.com/l/_GhprVgQee4LV
https://dl.doubtnut.com/l/_ybpGGpvksbwn

16. Write balanced chemical equations for the
following chemical reactions :

Zinc oxide + Carbon — Zinc + Carbon monoxide

° Watch Video Solution

17. State the type of chemical reactions, represented

by the following equations :

A+B— C

° Watch Video Solution



https://dl.doubtnut.com/l/_jqRocPC6xZRl
https://dl.doubtnut.com/l/_quW4F5r5t1zJ

18. State the type of chemical reactions, represented
by the following equations :

PQ+RS — PS+RQ

° Watch Video Solution

19. What is a reduction reaction?

Identify the substances that are oxidised and the
substances that are reduced in the following
reaction.

F6203 + 2A1 — Al203 + 2Fe

° Watch Video Solution



https://dl.doubtnut.com/l/_mIh6izgWjh1W
https://dl.doubtnut.com/l/_DxAVtPRS629u

20. What is a reduction reaction?
Identify the substances that are oxidised and the
substances that are reduced in the following

reaction.

2Pb0 + C — 2Pb+ CO,

o Watch Video Solution

Exercise Multiple Choice Questions

1. Bivalent cation is

A. aluminium


https://dl.doubtnut.com/l/_EEuIEUxPbyFF
https://dl.doubtnut.com/l/_GPGqeH3HA9er

B. gold

C. nickel

D. sodium.

Answer: C

° Watch Video Solution

2. A balanced chemical equation supports

A. law of chemical equilibrium

B. law of conservation of energy

C. law of conservation of mass


https://dl.doubtnut.com/l/_GPGqeH3HA9er
https://dl.doubtnut.com/l/_4MLlBo0KoYFH

D. none of these.

Answer: C

o Watch Video Solution

3. The substance that takes part in reaction is called

A. radical

B. product

C.reactant

D.ion

Answer: C


https://dl.doubtnut.com/l/_4MLlBo0KoYFH
https://dl.doubtnut.com/l/_7XZUienBbzny

o Watch Video Solution

4. The substance that is formed in the reaction is

called

A. radical

B. product

C.reactant

D.ion

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_7XZUienBbzny
https://dl.doubtnut.com/l/_yOGIb4TtLqx9
https://dl.doubtnut.com/l/_Ad2BnMgw2La7

5. Which of the following is correct?

A. Product — reactant

B. Reactant — product

C.Radical — reactant

D. Radical — product

Answer: B

o Watch Video Solution

6.AB — A+ Brepresents


https://dl.doubtnut.com/l/_Ad2BnMgw2La7
https://dl.doubtnut.com/l/_KxaFek1aMvMe

A. decomposition reaction

B. combination reaction

C. displacement reaction

D. double displacement reaction

Answer: A

° Watch Video Solution

7. Digestion of food in our body is

A. combination reaction

B. displacement reaction


https://dl.doubtnut.com/l/_KxaFek1aMvMe
https://dl.doubtnut.com/l/_WkYhKdJsfj5Q

C. decomposition reaction

D. neutralisation reaction.

Answer: C

° Watch Video Solution

8. Which of the following plays a major role in

chemical equations?

A. Radicals and ions

B. Cations and anions

C. Reactants and products


https://dl.doubtnut.com/l/_WkYhKdJsfj5Q
https://dl.doubtnut.com/l/_s0qRQsFY76Nb

D. Both (a) and (b)

Answer: C

° Watch Video Solution

9. Which of the following is a balanced chemical

equation?

A Hy + Clg — 4HC(CI

B.Zn + 2HCIl — ZnCl, + H,

C. KN03 — KN02 + 02


https://dl.doubtnut.com/l/_s0qRQsFY76Nb
https://dl.doubtnut.com/l/_wNqQSYxZvQYE

Answer: B

° Watch Video Solution

10. Which of the following is not a balanced chemical
equation?

A Hy + CuO — Cu + Hy,O

B.Zn + 2AgNO; — Zn(NOj3), + 2Ag

C. Mg+ 2HCl — MgCly + Hy

D.4Al + 2HCI — 2AICl; + 4H,

Answer: D

| o ]


https://dl.doubtnut.com/l/_wNqQSYxZvQYE
https://dl.doubtnut.com/l/_4fjoCkNF5K2g

| & Watch Video Solution

11. The chemical equation tells about

A. substances which react in chemical reaction

B. number of atoms of all substances

C. reaction will complete or not

D. both (a) and (b).

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_4fjoCkNF5K2g
https://dl.doubtnut.com/l/_EdqkOPa3j0fo

12. The chemical equation is represented by

C. both (a) and (b)

Answer: A

° Watch Video Solution

13. A balanced equation has


https://dl.doubtnut.com/l/_BDLfOEQpLZA8
https://dl.doubtnut.com/l/_rYgvdWRNT7dd

A. more number of reactants

B. more number of products

C.equal number of atoms in reactants and

products

D.unequal number of atoms in reactants and

products.

Answer: C

° Watch Video Solution

14. A skeleton equation has


https://dl.doubtnut.com/l/_rYgvdWRNT7dd
https://dl.doubtnut.com/l/_KEyMYKWfGJxb

A. more number of reactants

B. more number of products

C.equal number of atoms in reactants and

products

D.unequal number of atoms in reactants and

products.

Answer: D

° Watch Video Solution

15. unequal number of atoms in reactants and

products.


https://dl.doubtnut.com/l/_KEyMYKWfGJxb
https://dl.doubtnut.com/l/_X4TNKKq3HrHX

A. chemical change

B. rearrangement of atoms

C. formation of new substances

D. all of these.

Answer: D

° Watch Video Solution

16. Change in colour is a characteristic of

A. chemical formula

B. chemical equation


https://dl.doubtnut.com/l/_X4TNKKq3HrHX
https://dl.doubtnut.com/l/_YnVVhoBxsWxD

C. chemical reaction

D. all of these.

Answer: C

° Watch Video Solution

17. Phosphorus burns in chlorine gas to form PCls.

Which type of reaction is this?

A. Combination reaction

B. Displacement reaction

C. Decomposition reaction


https://dl.doubtnut.com/l/_YnVVhoBxsWxD
https://dl.doubtnut.com/l/_OpRG4ymthIji

D. Neutralization reaction

Answer: A

O Watch Video Solution

18. Formation of carbon disulphide from carbon and

sulphur takes place by

A. absorption of heat

B. evolution of heat

C. no change in heat content

D. none of the above.


https://dl.doubtnut.com/l/_OpRG4ymthIji
https://dl.doubtnut.com/l/_H0HGfNZ6VlFR

Answer: A

° Watch Video Solution

19. The reaction between an acid and a base is known

as

A. condensation reaction

B. addition reaction

C. neutralisation reaction

D. elimination reaction.

Answer: C

| o ]


https://dl.doubtnut.com/l/_H0HGfNZ6VlFR
https://dl.doubtnut.com/l/_KtvDlp2M51pv

| & Watch Video Solution

20. The chemical reaction

HNO3; + KOH — KNO3 + H50Ois an example of

A. neutralization

B. double displacement

C. neutralization and double displacement

D. combination

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_KtvDlp2M51pv
https://dl.doubtnut.com/l/_owAF7Dd6bO0n
https://dl.doubtnut.com/l/_hB7IXU7uNovK

21. Which of the following does not corrode when

exposed to the atmosphere?

A. lron

B. Copper

C. Gold

D. Silver

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_hB7IXU7uNovK

22. Which of the following is a double displacement

reaction?

B.CuSO, + Fe — FeSO, + Cu

C. NaySO4 + BaCl, — BaSO4 + 2NaCl

D.CaCO3 — CaO + CO,

Answer: C

o Watch Video Solution

23. Which of the following reactions will occur?


https://dl.doubtnut.com/l/_uZmQ7cV6RnSs
https://dl.doubtnut.com/l/_RGaSviCL1Knq

A.2Ag + Cu(NO3), = 2AgNO; + Cu
B.Cu + ZnS0O, — CuSO4 + Zn
C. 2Ag + H2804 — AngO4 + H,

D.2Al + 3F€SO4 — Al2(SO4)3 + 3Fe

Answer: D

° Watch Video Solution

24.
BaCly(4q) + Na280y(qq) — BaSOy4(s) + 2NaCl (o)
The types of reaction are

(1) displacement (2) precipitation


https://dl.doubtnut.com/l/_RGaSviCL1Knq
https://dl.doubtnut.com/l/_mmQFSvhfavLw

(3) combination

(4) double displacement

A. (1) and (3)

B. (1), (2) and (3)

C.(2) and (3)

D.(2) and ( 4).

Answer: D

0 Watch Video Solution

25. Heat is evolved during


https://dl.doubtnut.com/l/_mmQFSvhfavLw
https://dl.doubtnut.com/l/_90j1USXGIuGn

A. endothermic reaction

B. displacement reaction

C. combustion reaction

D. combination reaction

Answer: C

° Watch Video Solution

26. A change is said to be a chemical change when

A. energy changes occurs

B. new substances are formed


https://dl.doubtnut.com/l/_90j1USXGIuGn
https://dl.doubtnut.com/l/_5EHM4IUsgaCY

C. the change can not be easily reversed

D. all of these

Answer: D

° Watch Video Solution

27. Copper displaces which of the following metals

from its salt solution

A. Z’)’LSO4

B. F'eSOy,


https://dl.doubtnut.com/l/_5EHM4IUsgaCY
https://dl.doubtnut.com/l/_TR4YyYBAspiW

D. NiSO,

Answer: C

° Watch Video Solution

28. Which of the following statements is correct?

Rusting of iron is a chemical change because

A.a new substance with new properties is

produced

B. chemical composition of reactant is changed


https://dl.doubtnut.com/l/_TR4YyYBAspiW
https://dl.doubtnut.com/l/_GTXKkvkuC83G

C.change is permanent and can not be reversed

easily

D. all of these.

Answer: D

° Watch Video Solution

29. The equation
Cu + XHNO3 — Cu(NOs3) + YNO, + 2H50

the values of X and Y are

A.3and 5


https://dl.doubtnut.com/l/_GTXKkvkuC83G
https://dl.doubtnut.com/l/_PNb7oZfZX8mJ

B.8and 6

C.4and 2

D.7 and 1

Answer: C

° Watch Video Solution

30. On heating ferrous sulphate crystals, one would

get

A. sweet smell

B. sweet smell


https://dl.doubtnut.com/l/_PNb7oZfZX8mJ
https://dl.doubtnut.com/l/_gH0UMmckSYyl

C.irritating chocking smell

D. fruity smell.

Answer: C

° Watch Video Solution

31. Which of the following is a decomposition

reaction ?

A.NaOH + HCl — NaCl + H5O

B. NH,CNO — H,NCONH,

C.2KCl0; — 2KCl + 30,


https://dl.doubtnut.com/l/_gH0UMmckSYyl
https://dl.doubtnut.com/l/_ah9EMNneuZp8

D.Hy +1, — 2HI

Answer: C

° Watch Video Solution

32. Which of the statement about the following
reactions is correct ?
Zn0 + CO — Zn + CO,

A.ZnO is being oxidizing

B. CO is being reduced.

C. CO, is being oxidized


https://dl.doubtnut.com/l/_ah9EMNneuZp8
https://dl.doubtnut.com/l/_GR9NpSoxOkAi

D.ZnO is being reduced

Answer: D

O Watch Video Solution

33. In the decomposition of lead (Il) nitrate to give

lead (ll) oxide,nitrogen dioxide and oxygen gas,the

coefficient of nitrogen dioxide (in the balanced

equation) is

Al

B.2

C.3


https://dl.doubtnut.com/l/_GR9NpSoxOkAi
https://dl.doubtnut.com/l/_QItLvktI1oAt

D.4

Answer: D

° Watch Video Solution

34. Which of the following is not an example of

single displacement reaction ?

A CuO + Hy, —- H,0O + Cu

B.Zn + CuS0O,; — ZnSO, + Cu

C.4ANH; + 50, — 4NO + 6H,0

D.Zn + 2HCIl — Hs + ZnCl,


https://dl.doubtnut.com/l/_QItLvktI1oAt
https://dl.doubtnut.com/l/_dGajGXwlznlx

Answer: C

° Watch Video Solution

35. The reaction in which to compounds exchange

their ions to form two compounds is called

A. displacement reaction

B. combination reaction

C. double displacement reaction

D. redox reaction.

Answer: C

| o ]


https://dl.doubtnut.com/l/_dGajGXwlznlx
https://dl.doubtnut.com/l/_S5HqvohgzHsx

| & Watch Video Solution

36. Antioxidants are

A. hydrating agents

B. dehydrating agents

C. oxidizing agents

D. reducing agents.

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_S5HqvohgzHsx
https://dl.doubtnut.com/l/_atXMiVZGoSQo

37. Aluminium is more reactive than iron. But

aluminium is less easily corroded than iron because.

A. aluminium is a noble metal

B. oxygen forms a protective oxide layer

C.iron undergoes reaction easily with water

D. iron forms mono and divalent ions

Answer: B

o Watch Video Solution

38. The example for exothermic reaction is


https://dl.doubtnut.com/l/_OO168ZOjlqMJ
https://dl.doubtnut.com/l/_WsBNjRAXis1I

A. melting of ice cubes

B. decomposition of vegetable matter into

compost

C. cooking an egg

D. baking bread.

Answer: B

° Watch Video Solution

39. What does the symbol (aq) represent in a

chemical equation?


https://dl.doubtnut.com/l/_WsBNjRAXis1I
https://dl.doubtnut.com/l/_SQ8VXqwt6no6

A. Solid state

B. Gaseous state

C. Solution made in water

D. Supercooled state

Answer: C

° Watch Video Solution

40. In the reaction betwee.n lead sulphide and

hydrogen peroxide which substance is reduced?


https://dl.doubtnut.com/l/_SQ8VXqwt6no6
https://dl.doubtnut.com/l/_1apMvK9Z9d9u

A. Lead sulphide

B. Hydrogenperoxide

C. Lead sulphate

D. Water

Answer: B

° Watch Video Solution

41. Which of the following reactions is involved in

black and white photography?

A 20U + Oy -2 20u0


https://dl.doubtnut.com/l/_1apMvK9Z9d9u
https://dl.doubtnut.com/l/_LQSxswLC8do6

A
B.2AgBr — 2Ag + Bry
C.ZnO +C — Zn+ CO

D.CaCO; -~ CaO + CO,

Answer: B

° Watch Video Solution

42. Which of the following is not a combination

reaction?

A.Fe + S — FeS

B.CaO + CO2 — CaCOs


https://dl.doubtnut.com/l/_LQSxswLC8do6
https://dl.doubtnut.com/l/_Ser8zQqDp94a

C.NH,; + HCl — NH,CI

D. AgNO3 + NaCl — AgCl + NaNO;

Answer: D

° Watch Video Solution

43. Which of the following is not a double

displacement reaction?

A. BCLCl2 + HQSO4 — BCLSO4 + 2HC(I

B.CuSO, + HyS — CuS + H350,

C. NaOH + HCl — NaCl + H,O


https://dl.doubtnut.com/l/_Ser8zQqDp94a
https://dl.doubtnut.com/l/_LbV7FfLO3wVu

D.ZnO + C — Zn + CO

Answer: D

o Watch Video Solution

44.The addition of oxygen to a substance is called

A. redox

B. oxidation

C. reduction

D. none of these

Answer: B


https://dl.doubtnut.com/l/_LbV7FfLO3wVu
https://dl.doubtnut.com/l/_aWbaCfQj5QT6

° Watch Video Solution

45. Identify the following type of reaction.

heat
2KCIOs 2 KCl(S)+302(g)

catalyst
A. It is a combination reaction.
B.Ilt is a decomposition reaction and s
accompanied by release of heat.
C.It is a photochemical decomposition reaction
by release of heat.
D.It is a decomposition reaction and s

endothermic in nature.


https://dl.doubtnut.com/l/_aWbaCfQj5QT6
https://dl.doubtnut.com/l/_zif1b2EQWsxE

Answer: D

° Watch Video Solution

46. Which of the following pairs will give

displacement reactions?

A. NaCl solution and copper metal

B. M gCl, solution and aluminium metal

C. FeSO, solution and silver metal

D. AgINOj solution and copper metal

Answer: D

| o |


https://dl.doubtnut.com/l/_zif1b2EQWsxE
https://dl.doubtnut.com/l/_LQmdcZGi9p0R

l @ Watch Video Solution

47. Which of the following is a chemical change?

A. Melting of ice

B. Dissolving salt in water

C. Rusting of iron

D. Boiling of water into steam

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_LQmdcZGi9p0R
https://dl.doubtnut.com/l/_Kj7dgTiOwXSf

48. When copper sulphate solution reacts with iron

metal, copper metal is formed. This reaction comes

under which of the following category?

A. Decomposition reaction

B. Single displacement reaction

C. Double displacement reaction

D. Combination reaction

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_bgHaiZ4JnOSU

49. Which information is not conveyed by a balanced

chemical equation?

A. Physical quantity of reactants and products.

B. Symbols and formula of all the substances

involved in a particular reaction.

C. Number of atoms/molecules of the reactants

and products formed.

D. Whether a particular reaction is actually

feasible or not.

Answer: D

& |


https://dl.doubtnut.com/l/_hGFkElbeurrv

| ¥ vvatcn Viaeo >olution

50. The process of respiration is:

A. an oxidation reaction which is endothermic

B. a reduction reaction which is exothermic

C. a combination reaction which is endothermic

D. an oxidation reaction which is exothermic.

Answer: D

o Watch Video Solution

Exercise Match The Following


https://dl.doubtnut.com/l/_hGFkElbeurrv
https://dl.doubtnut.com/l/_0SXpI1jAaXnn

1. Match the
List-1

(P} 2H,+ 0, - 2H.0 1.

(Q) CaC0, — Ca0 + €O, 2,

(R) 2Al + Fe,0, 3.

(5) 2KBr - Bal, — 4.

2KI + BaBr,

A.P-2,0Q-4,R-3, 5-1

B. P-2, Q-1,R-4, S-3

C.P-4,Q-1,R-3,5-2

D. P-1, Q-4,R-3,S-2

Answer: A

following columns

List-I1

Double
displacement
reaction
Combination
redaction
Displacement
reaction
Decompaosition
reaction

l ﬂlll,l,l,\",l,,n,l g


https://dl.doubtnut.com/l/_OSGpbPxt7F52

{ ' vvaldn viaco >01ution ]

2, Match the following columns
List-I List-11
(P) Thermal 1. 2AgCl,, —™»
decomposition ZAg,, * Cly,
(Q) Photodecomposition 2. 2Pb{NO,), , —

2Pp0,,, + 4NO,,

* nlw:
(R) Electrolytic 3. 2HQL,, Heaolyss,
dissociation .H]“‘I + Cly,,

A. P-1,0Q-4,R-3,S-2

B. P-2, O-1,R-3

C.P-3,Q-2, R-1

D.P-1,0-3,R-2

Answer: B


https://dl.doubtnut.com/l/_OSGpbPxt7F52
https://dl.doubtnut.com/l/_kpXkK2ZZAAZd

o Watch Video Solution

3. Match the following columns
List-1 List-11
(Py HyS, + '-':'l-.h,mI 1. Oxidation -
» "Hf_l[“, - reduction reaction
(Q) CusSOy,,, + Hy5 2. Exothermic
» Cus,,, + H ‘{L}*“w reaction

(R} NaOH, . +H:,D 3. Precipitation

» MaC H ) Hl.'ﬂl reaction

A.P-3,0-2,-1

B. P-2, O-1,R-3

C.P-2,Q-3, R-1

D.P-1,0-3,R-2

Answer: D



https://dl.doubtnut.com/l/_kpXkK2ZZAAZd
https://dl.doubtnut.com/l/_NyyXbRg8DkjG

° Watch Video Solution

4.

Match the
List-1
(P} 2FeS0, — Fe.O, 1.
+ x50, + 50,
() vAl + 3FeS0, 2.
—» Al(SO,), + 3Fe
(R} 2KCIC, — 3.
2KCl + O,
(5) PClg + xH,0 4.

+ H,PO, + 5HCI

A.P-1,0-2,R-3,5-4

B. P-4, Q-3, R-2, S-1

C.P-2,0Q-3,R-1,5-4

D.P-4,Q-1,R-2, 53

following

List-11
r =3

T=1

columns


https://dl.doubtnut.com/l/_NyyXbRg8DkjG
https://dl.doubtnut.com/l/_NYDKck4gKZkT

Answer: C

° Watch Video Solution

5. Match the following
List-1 List-11
() MnO, + pHCI 1. p=3
— MnCl, + 2H,0
+ Cl,
(Q) IMnO, + 4A] - 2. p=6
pMn + 2A1LO,
(R) Na,5O, » BaCl, —» 3. p=4
Ba50, + pNaCl

(S) 4NH, + 50, 4. p=2
ANO + pH,O

A.P-4,Q-3,R-2, S-1

B. P-1,Q-2, R-3, S-4

columns


https://dl.doubtnut.com/l/_NYDKck4gKZkT
https://dl.doubtnut.com/l/_M9AnERN5HfaX

C.P-1,0-2,R-3,5-4

D.P-3, Q-1, R-4, S-2

Answer: D

° Watch Video Solution

Exercise Assertion Reason Type

1. Assertion: Chemical reactions are chemical
changes.
Reason It does not tells about the state of

substance.


https://dl.doubtnut.com/l/_M9AnERN5HfaX
https://dl.doubtnut.com/l/_mzgCrm5XnyQQ

A.If both assertion and reason are time and

reason is the correct explanation of assertion.

B.If both assertion and reason are true but

reason is not the correct explanation of

assertion.

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_mzgCrm5XnyQQ

2. Assertion : Balancing a chemical equation is

important to study a chemical reaction.

Reason A balanced chemical equation tells about

energy changes that take place.

A.If both assertion and reason are time and

reason is the correct explanation of assertion.

B.If both assertion and reason are true but

reason is not the correct explanation of

assertion.

C. If assertion is true but reason is false.

D. If both assertion and reason are false.


https://dl.doubtnut.com/l/_vFaV0PalhhE7

Answer: C

o Watch Video Solution

3. Assertion: 2H, + Oy — 72H,0 is balanced

equation.

Reason Formation of water is combination reaction.

A.If both assertion and reason are time and

reason is the correct explanation of assertion.

B.If both assertion and reason are true but

reason is not the correct explanation of

assertion.


https://dl.doubtnut.com/l/_vFaV0PalhhE7
https://dl.doubtnut.com/l/_b2Kj1UBTYwxn

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: B

o Watch Video Solution

4. Assertion: Chemical equation is made up of
reactants and products

Reason The equation which have equal number of
atoms in reactant and product is called skeleton

equation


https://dl.doubtnut.com/l/_b2Kj1UBTYwxn
https://dl.doubtnut.com/l/_oYqVegsdEnJw

A.If both assertion and reason are time and

reason is the correct explanation of assertion.

B.If both assertion and reason are true but

reason is not the correct explanation of

assertion.

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_oYqVegsdEnJw

5. Assertion: Corrosion of iron is commonly known as

rusting.

Reason Corrosion of iron occurs in presence of water

and air.

A.If both assertion and reason are time and

reason is the correct explanation of assertion.

B.If both assertion and reason are true but

reason is not the correct explanation of

assertion.

C. If assertion is true but reason is false.

D. If both assertion and reason are false.


https://dl.doubtnut.com/l/_DqF07ZPvNanf

Answer: B

° Watch Video Solution

6. Assertion : The reaction is which a substance is
decomposed into two or more simple substances is
known as decomposition reaction.

Reason: The decomposition can be carried out by
giving energy in the form of heat, light, electricity,

etc.

A.If both assertion and reason are time and

reason is the correct explanation of assertion.


https://dl.doubtnut.com/l/_DqF07ZPvNanf
https://dl.doubtnut.com/l/_nReTf3jrLpn0

B.If both assertion and reason are true but

reason is not the correct explanation of

assertion.

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: B

° Watch Video Solution

7. Assertion: Nitrogen and hydrogen combine
together to form ammonia

Reason: It is an endothermic reaction.


https://dl.doubtnut.com/l/_nReTf3jrLpn0
https://dl.doubtnut.com/l/_9rExfMeWDY7j

A.If both assertion and reason are time and

reason is the correct explanation of assertion.

B.If both assertion and reason are true but

reason is not the correct explanation of

assertion.

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_9rExfMeWDY7j

8. Assertion:
2H5S(4) + O2(4) — 25(5) + 2H,0 ()
It is an oxidation reaction.
Reason:Oxidation is a process which involves
removal of hydrogen
A.If both assertion and reason are time and
reason is the correct explanation of assertion.
B.If both assertion and reason are true but
reason is not the correct explanation of

assertion.

C. If assertion is true but reason is false.


https://dl.doubtnut.com/l/_WDEo8ePc23l9

D. If both assertion and reason are false.

Answer: A

° Watch Video Solution

9. Assertion:Hydrogen gas combines with nitrogen

gas to form nitric acid.

Reason:lt is a decomposition reaction.

A.If both assertion and reason are time and

reason is the correct explanation of assertion.


https://dl.doubtnut.com/l/_WDEo8ePc23l9
https://dl.doubtnut.com/l/_0rZ4rPvfNL7n

B.If both assertion and reason are true but

reason is not the correct explanation of

assertion.

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: D

o Watch Video Solution

10. Assertion: Reaction between barium chloride and
sodium sulphate is a double displacement and

precipitation reaction.


https://dl.doubtnut.com/l/_0rZ4rPvfNL7n
https://dl.doubtnut.com/l/_FmULwvgD2fnI

Reason: Reaction between barium chloride and

sodium sulphate involves the exchange of ions

between the reactants and a white precipitate of

barium sulphate is formed.

A.If both assertion and reason are time and

reason is the correct explanation of assertion.

B.If both assertion and reason are true but

reason is not the correct explanation of

assertion.

C. If assertion is true but reason is false.

D. If both assertion and reason are false.


https://dl.doubtnut.com/l/_FmULwvgD2fnI

Answer: A

° Watch Video Solution

Exercise Comprehension Type

1. Zn+ CuSO4 — ZnSO4 + Cu is a chemical

equation. The products are

A.Zn, Cu

B. C’LLSO4, Z’I’LSO4

C. Z’I’LSO4, Cu

D. C’LLSO4, Zn


https://dl.doubtnut.com/l/_FmULwvgD2fnI
https://dl.doubtnut.com/l/_JmOVjUr3eseq

Answer: C

° Watch Video Solution

2.CH; + Oy — CO5 + H50 is a chemical equation

The reactants are

A.CH,, CO,

B. H,O, O,

C.CO,, H,O

D.CHy, O,

Answer: D

| o


https://dl.doubtnut.com/l/_JmOVjUr3eseq
https://dl.doubtnut.com/l/_RI5wAeLFXEea

| & Watch Video Solution

3. 2Al203 — 4Al + 302 is

A. chemical equation

B. balanced chemical equation

C. unbalanced chemical equation

D. none of these.

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_RI5wAeLFXEea
https://dl.doubtnut.com/l/_AMRe0HMOKTaP

4.The characteristics of chemical reaction is

A. change in state

B. change in colour

C. both

D. none of these.

Answer: C

° Watch Video Solution

5. Decomposition reactions are reverse of


https://dl.doubtnut.com/l/_s5gH04RywD0d
https://dl.doubtnut.com/l/_uMTV9waXdu7V

A. chemical reaction

B. chemical change

C. combination reaction

D. displacement reaction.

Answer: C

° Watch Video Solution

6. Digestion of food is

A. combination reaction

B. decomposition reaction


https://dl.doubtnut.com/l/_uMTV9waXdu7V
https://dl.doubtnut.com/l/_cEyLGJ7iFdIm

C. displacement reaction

D. neutralisation reaction.

Answer: B

° Watch Video Solution

Exercise Integer Numerical Value Type

1.In the following equations
NCI,2003 + xHCIl — 2NaCl + COQ + HQO

the value of x is

° Watch Video Solution



https://dl.doubtnut.com/l/_cEyLGJ7iFdIm
https://dl.doubtnut.com/l/_vLw6NJ6zeKcE

2. Phosphorus (V) chloride dissolves in water to form
phosphoric acid, H 3PO 4 and hydrochloric acid.
What is the value of (x +y) in the balanced equation

for this reaction?

P0l5(s) + tzO(I) — H3PO4(aq) + yHC’laq

° Watch Video Solution

3. Consider the following reaction:
MggNz + pHQO — 3Mg(OH)2 + QNH3

When the equation is balanced the sum of p and q is

° Watch Video Solution



https://dl.doubtnut.com/l/_vLw6NJ6zeKcE
https://dl.doubtnut.com/l/_0tkdswVkxH3B
https://dl.doubtnut.com/l/_6TLmCkO4RxFt

4. Consider the following chemical reaction:
2H20 — 2H2 -+ 02

Is this decomposition reaction?

° Watch Video Solution

5. Consider the following chemical reactions:
2F€SO4 — F6203 + SOQ + 503

Is this decomposition reaction?

° Watch Video Solution



https://dl.doubtnut.com/l/_6TLmCkO4RxFt
https://dl.doubtnut.com/l/_qGWGLxbR0KdF
https://dl.doubtnut.com/l/_1WMxwV2UVuU1

6. Consider the following chemical reactions:

Is this decomposition reaction?

° Watch Video Solution

7. Consider the following chemical reactions:
2KClO3 — 2KCl + 30,

Is this decomposition reaction?

° Watch Video Solution



https://dl.doubtnut.com/l/_NyCqjRJFWzJH
https://dl.doubtnut.com/l/_3LkLo4k21iZ7

8. How many of these metals will be able to replace

iron from its solution?Na, Cu, Ag, Ca, Mg, Au

° Watch Video Solution



https://dl.doubtnut.com/l/_38ZJ5y2HMlCU

